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Question 1. (5 marks) Evaluate the following integral:
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Question 2. (5 marks) Evaluate the following integral:
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Question 3. (8 marks) Use a trigonometric substitution to evaluate the following integral:
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Questioh 4. (5 marks) Evaluate the following integral:
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Question 5. (7 marks) Evaluate the following integral:
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Question 6. (6 marks) Use Simpson’s rule with n = 6 to approximate the following integral.
Compare this with the exact value of the integral by evaluating directly.
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Question 7. (5 marks) Evaluate the following limit:

lim x sin(1/x)
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Question 8. (6 marks) Evaluate the following limit:
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Bonus. (4 marks) If f is a quadratic function such that £(0) = 1 and
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is a rational function (that is, does not have any logarithms or inverse trigonometric functions) find
the value of f7(0).



